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HOMEWORK 7717

~ Worksheet - Standard to Vertex (a = 1).pdf
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Examples: S->V: Complete the square with "a+1".
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What about having a fractional 'a' value??? vf
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HOMEWORK...

Worksheet - Standard to Vertex (any value of a).pdf
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Do 8 of the 12 questions
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Fovncdohons of ath 1

_Quadratics: Stunclerd Eorm® y=ax’ +bx+c
Verfex R y=a(x-h) +k

Put the following equations in standard form by completing the square.

3 y=x2+4x _ 9. y:x2+4x—2 ’
2. y=x*-4x 10. y=x>-6x+1 * SOLUTIONS:
#. y=(x+2) -4
#.y=(x-2) -4
3. y=x*-6x 11 y=x"-8x-5 # j:éc—z))’&
5 25
#.p=lres| <=2
‘ yose3) 2
4, y=x*+5x ° 12. y=x*-3x+1 #5‘}’:(’5'2}2—2
, 2) "4

#6. y=(x—8)" —64
| #7. y=(x+1) -1
5. y=x"-3x 13. y=x*+2x-5 #. y=2(x+1) -2
' #. y=(x+2)" -6
#10. y=(x-3)" -8
#1. y=(x-4) -21

4
#3. y=(x+1)-6 |
#4. y=(x+30-4 |

3Y 3 |
#5. y={x-2| +2
y ( 2] |

6. y:x2_16x 14. y=x2+6_x+5 #12,);:( —%JZ_E

4

2
#16. y=[x—§] =

7. y=x*+2x 15, y=x*-3x+3

4

8 y=2x"+4x ' 16, y=x"-5x-2
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Foundato~x cf Math 1

Stundewch = Ve-fer foem * Completing the square

Change from General Form to Standard Form. State Vertex, range, axis of symmetry.

1) y=x2+4x-2

3) y=—x*+6x-17

5) y=-3x*—60x - 305

2, 16 32
7 y=—xt ——x——
NP
9) y=-2x*+2

11) y=x+6x+1

2) y=x>-18x+91

4) y=-2x"-36x—167

6) y=3x>+12x+10

1
8) y=——x?-3x—18
)y 4x 572

10) y=15x>-180x + 538

12) y=-2x"+36x—168

Soludions o - -
9-(6-Y)-=4 (T 8- (e+¥)=4 (11 T-,(9-%)s1=4 (01 7+ xt-=4 (6
¥ S
g =118 07 7=CL o gene=a 0 s (o1+¥)e-=4 (s
s— . (6+X)T-=4 (v T+ (e-x)-=4 (¢ 01+, (6-%)=4 (¢ 9- (z+x)=4 (1





SMART Notebook


	Page 1: May 26-2:17 PM
	Page 2: Feb 11-6:36 PM
	Page 3: Jan 9-9:59 AM
	Page 4: Jun 5-10:51 AM
	Attachments Page 1

